Permit

Howard County

Howard County Recreation and Parks 7120 Oakland Mills Rd Columbia, MD 21046 PHONE:(410) 313-7275 FAX:(410) 313-4658 Permit # R67352

Status Approved
Date Jul 9, 2021 9:13 AM

Organization Name
Customer Type
Organization Address

EYO - 5958 Non-Profit PO Box 8012 Elkridge, MD 21075

Agent Name

Mike Berger

Secondary Phone

(410) 696-2548

Number Primary Phone Number

(443) 562-4642

Email Address

mike@berger-sports.com

System User Jean Shea

Rental Fee
Discounts
Subtotal
Deposits
Deposit Discounts

Total Permit Fee

Total Payment \$0.00
Refunds \$0.00
Balance \$17,158.50

EYO soccer

2 resource(s)

2 booking(s)

Subtotal: \$205.00

\$17,158.50

\$17,158.50

\$17,158.50

\$0.00

\$0.00

\$0.00

Booking Summary

HOWARD HS Field 01 (Field U	se- Youth)		C	enter: Howard High	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 31, 2021	6:00 PM	Aug 31, 2021	9:00 PM	1	\$95.00
Field Reservation- Lights Su	ummer \$35.00 / H	our x 1 \$35.00			
Field Reservation- Youth	\$20.00 / Hour x 3	\$60.00			
RBP Field 06 East (Field Use-`	Youth)		C	enter: Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Sep 21, 2021	7:00 PM	Sep 21, 2021	9:00 PM	1	\$110.00
Field Reservation- Lights Fa	all/Spring \$35.00 /	Hour x 2 \$70.00	0		

\$40.00

EYO soccer practice

Field Reservation- Youth

\$20.00 / Hour x 2

3 resource(s)

3 booking(s)

Subtotal: \$160.00

Booking Summary

HOWARD HS Field 01 (Field Use- Youth)			Cente	er: Howard High	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX

R67352 Status Approved Page 1 of 22

Aug 23, 2021	6:00 PM	Aug 23, 2021	8:00 PM	1	\$40.00
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Troy Park Field #4 (Field Use-`	Youth)		Cente	er: Troy Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 25, 2021	6:00 PM	Aug 25, 2021	8:00 PM	1	\$40.00
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
RBP Field 05 East (Field Use-	outh)		Cente	er: Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 29, 2021	2:00 PM	Aug 29, 2021	6:00 PM	1	\$80.00
Field Reservation- Youth	\$20.00 / Hour x 4	\$80.00			

EYO soccer games

2 resource(s) 16 booking(s) Subtotal: \$1,747.50

Booking Summary

Sep 12, 2021 12: Field Reservation- Youth Sep 19, 2021 12: Field Reservation- Youth Sep 26, 2021 12: Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	2:00 PM \$20.00 / Hour x 6 2:00 PM \$20.00 / Hour x 6 15 PM 1 until Oct 31, 2021 from 15 PM	Sep 19, 2021 \$120.00 Sep 26, 2021 \$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 IT x 0.25 \$8.75	6:00 PM 6:00 PM 6:00 PM 6:15 PM	1 1 1 - 1	\$120.00 \$120.00 \$120.00 \$543.79 \$108.79
Field Reservation- Youth Sep 19, 2021 12: Field Reservation- Youth Sep 26, 2021 12: Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	\$20.00 / Hour x 6 2:00 PM \$20.00 / Hour x 6 2:00 PM \$20.00 / Hour x 6 15 PM 11 until Oct 31, 2021 from 15 PM	\$120.00 Sep 19, 2021 \$120.00 Sep 26, 2021 \$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 IT x 0.25 \$8.75	6:00 PM 6:00 PM 6:15 PM	1	\$120.00 \$120.00 \$543.7
Sep 19, 2021 12: Field Reservation- Youth Sep 26, 2021 12: Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	2:00 PM \$20.00 / Hour x 6 2:00 PM \$20.00 / Hour x 6 15 PM 1 until Oct 31, 2021 from 15 PM	Sep 19, 2021 \$120.00 Sep 26, 2021 \$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 IT x 0.25 \$8.75	6:00 PM 6:15 PM	1	\$120.00 \$543.7
Field Reservation- Youth Sep 26, 2021 12: Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	\$20.00 / Hour x 6 2:00 PM \$20.00 / Hour x 6 15 PM 11 until Oct 31, 2021 from 15 PM \$35.00 / Hou	\$120.00 Sep 26, 2021 \$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 IT x 0.25 \$8.75	6:00 PM 6:15 PM	1	\$120.00 \$543.7
Sep 26, 2021 12: Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	2:00 PM \$20.00 / Hour x 6 15 PM 11 until Oct 31, 2021 from 15 PM \$35.00 / Hou	Sep 26, 2021 \$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 r x 0.25 \$8.75	6:15 PM	_	\$543.7
Field Reservation- Youth Oct 3, 2021 1:1! Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 1:1! Field Reservation- Lights October Field Reservation- Youth	\$20.00 / Hour x 6 15 PM 11 until Oct 31, 2021 from 15 PM \$35.00 / Hou	\$120.00 Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 IT x 0.25 \$8.75	6:15 PM	_	\$543.7
Oct 3, 2021 Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 Field Reservation- Lights October Field Reservation- Youth	15 PM 1 until Oct 31, 2021 from 15 PM \$35.00 / Hou	Oct 31, 2021 1:15 PM to 6:15 PM Oct 3, 2021 r x 0.25 \$8.75		1	
Occurs every Sunday effective Oct 3, 2021 Oct 3, 2021 Field Reservation- Lights October Field Reservation- Youth	1 until Oct 31, 2021 from 15 PM \$35.00 / Hou	1:15 PM to 6:15 PM Oct 3, 2021 r x 0.25 \$8.75		1	
Oct 3, 2021 1:19 Field Reservation- Lights October Field Reservation- Youth	15 PM \$35.00 / Hou	Oct 3, 2021 r x 0.25 \$8.75	6:15 PM	1	\$108.7
Field Reservation- Lights October Field Reservation- Youth	\$35.00 / Hou	r x 0.25 \$8.75	6:15 PM	1	\$108.7
Field Reservation- Youth					
	15 PM	Oct 10, 2021	6:15 PM	1	\$108.7
·		,	0.13 FWI	!	\$106.7
Field Reservation- Lights October Field Reservation- Youth					
		Oct 17, 2021	6:15 PM	1	\$108.7
Field Reservation- Lights October			0.13 1 141		Ψ100.7
Field Reservation- Youth					
Oct 24, 2021 1:1!	15 PM	Oct 24, 2021	6:15 PM	1	\$108.7
Field Reservation- Lights October	\$35.00 / Hou	r x 0.25 \$8.75			
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Oct 31, 2021 1:1	15 PM	Oct 31, 2021	6:15 PM	1	\$108.7
Field Reservation- Lights October	\$35.00 / Hou	r x 0.25 \$8.75			
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
RBP Field 06 East (Field Use- Youth)				r: Rockburn Branch Park	
START DATE ST	TART TIME	END DATE	END TIME	ATTENDEE	AMT W/O TA

R67352 Status Approved Page 2 of 22

Occurs every Sunday effective Sep	12, 2021 until Oct 31, 2021 fro	m 1:15 PM to 6:15 PM			
Sep 12, 2021	1:15 PM	Sep 12, 2021	6:15 PM	1	\$100.00
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Sep 19, 2021	1:15 PM	Sep 19, 2021	6:15 PM	1	\$100.00
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Sep 26, 2021	1:15 PM	Sep 26, 2021	6:15 PM	1	\$100.00
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Oct 3, 2021	1:15 PM	Oct 3, 2021	6:15 PM	1	\$108.75
Field Reservation- Lights Oc	tober \$35.00 / Ho	ur x 0.25 \$8.75			
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Oct 10, 2021	1:15 PM	Oct 10, 2021	6:15 PM	1	\$108.75
Field Reservation- Lights Oc	tober \$35.00 / Ho	ur x 0.25 \$8.75			
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Oct 17, 2021	1:15 PM	Oct 17, 2021	6:15 PM	1	\$108.75
Field Reservation- Lights Oc	tober \$35.00 / Ho	ur x 0.25 \$8.75			
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			
Oct 24, 2021	1:15 PM	Oct 24, 2021	6:15 PM	1	\$108.75
Field Reservation- Lights Oc	tober \$35.00 / Ho	ur x 0.25 \$8.75			
Field Reservation- Youth					
Oct 31, 2021	1:15 PM	Oct 31, 2021	6:15 PM	1	\$108.75
Field Reservation- Lights Oc					
Field Reservation- Youth	\$20.00 / Hour x 5	\$100.00			

EYO soccer	3 resource(s) 5	7 booking(s)	Subtotal: \$4,390.00
LIO SULLEI	•	, 20019(0)	

Booking Summary

Troy Park Field #1 (Field Use- Y	outh)		Center:	Troy Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 30, 2021	5:30 PM	Nov 3, 2021	7:30 PM	-	\$1,460.00
Occurs on selected dates: Aug 30, 2 Oct 11, 2021, Oct 13, 2021, Oct 18, 20			i, 2021, Sep 20, 2021, Sep 22, 2021, Se i, 2021, Nov 3, 2021	p 27, 2021, Sep 29, 2021, Oct 4	1, 2021, Oct 6, 2021,
Aug 30, 2021	5:30 PM	Aug 30, 2021	7:30 PM	1	\$40.00
Field Reservation- Youth	\$20.00 / Hour x	2 \$40.00			
Sep 1, 2021	5:30 PM	Sep 1, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	/Spring \$35.00	/ Hour x 0.5 \$1	7.50		
Field Reservation- Youth	\$20.00 / Hour x	2 \$40.00			
Sep 8, 2021	5:30 PM	Sep 8, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	/Spring \$35.00	/ Hour x 0.5 \$1	7.50		
Field Reservation- Youth	\$20.00 / Hour x	2 \$40.00			
Sep 13, 2021	5:30 PM	Sep 13, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	/Spring \$35.00	/ Hour x 0.5 \$1	7.50		
Field Reservation- Youth	\$20.00 / Hour x	2 \$40.00			

R67352 Status Approved Page 3 of 22

Sep 15, 2021	5:30 PM	Sep 15, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	l/Spring \$35.00 /	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 20, 2021	5:30 PM	Sep 20, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	l/Spring \$35.00 /	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 22, 2021	5:30 PM	Sep 22, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	l/Spring \$35.00 /	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 27, 2021	5:30 PM	Sep 27, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	l/Spring \$35.00 /	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 29, 2021	5:30 PM	Sep 29, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fall	l/Spring \$35.00 /	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 4, 2021	5:30 PM	Oct 4, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 6, 2021	5:30 PM	Oct 6, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 11, 2021	5:30 PM	Oct 11, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 13, 2021	5:30 PM	Oct 13, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 20, 2021	5:30 PM	Oct 20, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 25, 2021	5:30 PM	Oct 25, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 27, 2021	5:30 PM	Oct 27, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oct	tober \$35.00 / Ho	our x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Nov 1, 2021	5:30 PM	Nov 1, 2021	7:30 PM	1	\$110.00
Field Reservation- Lights Wir	ster \$35.00 / Hou	r x 2 \$70.00			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Nov 3, 2021	5:30 PM	Nov 3, 2021	7:30 PM	1	\$110.00

R67352 Status Approved Page 4 of 22

Field Reservation- Lights Wil					
Field Reservation- Youth					
Sep 7, 2021	5:30 PM	Nov 2, 2021	7:30 PM	_	\$710.00
Occurs every Tuesday effective Sep	7, 2021 until Nov 2, 2021 fro	om 5:30 PM to 7:30 PM			
Sep 7, 2021	5:30 PM	Sep 7, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal					
Field Reservation- Youth					
Sep 14, 2021			7:30 PM	1	\$57.50
Field Reservation- Lights Fal					
Field Reservation- Youth			7:20 014	4	\$ 57.5
Sep 21, 2021		Sep 21, 2021	7:30 PM	1	\$57.5
Field Reservation- Lights Fall Field Reservation- Youth					
Sep 28, 2021	5:30 PM	Sep 28, 2021	7:30 PM	1	\$57.5
Field Reservation- Lights Fal	/Spring	Hour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
		Oct 5, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc					
Field Reservation- Youth					
Oct 12, 2021		Oct 12, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc Field Reservation- Youth					
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc Field Reservation- Youth					
Oct 26, 2021	5:30 PM	Oct 26, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc	tober \$35.00 / Ho	ur x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Nov 2, 2021	5:30 PM	Nov 2, 2021	7:30 PM	1	\$110.0
Field Reservation- Lights Wil	nter \$35.00 / Hour	r x 2 \$70.00			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Troy Park Field #2 (Field Use-		END DATE		er: Troy Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 30, 2021	5:30 PM	Aug 30, 2021	8:00 PM	1	\$50.0
Field Reservation- Youth	\$20.00 / Hour x 2.		700 511		A 4
Sep 1, 2021	5:30 PM	Nov 3, 2021	7:30 PM	_	\$1,420.0
Occurs on selected dates: Sep 1, 20 Oct 13, 2021, Oct 18, 2021, Oct 20, 2			Sep 22, 2021, Sep 27, 2021, s	Sep 29, 2021, Oct 4, 2021, Oct 6, .	2021, Oct 11, 2021,
Sep 1, 2021	5:30 PM	Sep 1, 2021	7:30 PM	1	\$57.5
Field Reservation- Lights Fall	1/Spring \$35.00 / I \$20.00 / Hour x 2	Hour x 0.5 \$17.50 \$40.00			
Field Reservation- Youth	*				
Sep 8, 2021	5:30 PM	Sep 8, 2021	7:30 PM	1	\$57.5

R67352 Status Approved Page 5 of 22

Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 13, 2021	5:30 PM	Sep 13, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal	/Spring \$35.00 / H	lour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 15, 2021	5:30 PM	Sep 15, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal	//Spring \$35.00 / H	lour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 20, 2021	5:30 PM	Sep 20, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal	/Spring \$35.00 / H	lour x 0.5 \$17.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 22, 2021	5:30 PM	Sep 22, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal					
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 27, 2021		Sep 27, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal					
Field Reservation- Youth					
Sep 29, 2021	5:30 PM	•	7:30 PM	1	\$57.50
Field Reservation- Lights Fal					
Field Reservation- Youth					400.50
Oct 4, 2021		Oct 4, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc Field Reservation- Youth					
Oct 6, 2021	5:30 PM		7:30 PM	1	\$92.50
Field Reservation- Lights Oc		,	7.30 FIVI	ı	\$92.50
Field Reservation- Lights Oc					
	5:30 PM		7:30 PM	1	\$92.50
Field Reservation- Lights Oc			7.50	·	402.00
Field Reservation- Youth					
Oct 13, 2021			7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / Hou	ur x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / Hou	ır x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 20, 2021	5:30 PM	Oct 20, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / Hou	ur x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 25, 2021	5:30 PM	Oct 25, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / Hou	ur x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 27, 2021	5:30 PM	Oct 27, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / Hou	ır x 1.5 \$52.50			
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			

R67352 Status Approved Page 6 of 22

Nov 1, 2021	5:30 PM	Nov 1, 2021	7:30 PM	1	\$110.00
Field Reservation- Lights	Winter \$35.00 / H	our x 2 \$70.00			
Field Reservation- Youth	\$20.00 / Hour	× 2 \$40.00			
Nov 3, 2021	5:30 PM	Nov 3, 2021	7:30 PM	1	\$110.00
Field Reservation- Lights	Winter \$35.00 / H	our x 2 \$70.00			
Field Reservation- Youth	\$20.00 / Hour	× 2 \$40.00			
BAR Field 3 /Field Use, Vout	b)		Center	Plandair Park	

BAP Field 3 (Field Use- Youth)			Cente	er: Blandair Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 31, 2021	5:30 PM	Nov 2, 2021	7:30 PM	_	\$750.00
Occurs every Tuesday effective Aug	1 31, 2021 until Nov 2, 2021	from 5:30 PM to 7:30	PM		
Aug 31, 2021	5:30 PM	Aug 31, 2021	7:30 PM	1	\$40.00
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 7, 2021	5:30 PM	Sep 7, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal	l/Spring \$35.00 /	Hour x 0.5	\$17.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 14, 2021	5:30 PM	Sep 14, 2021	7:30 PM	1	\$57.50
Field Reservation- Lights Fal	l/Spring \$35.00 /	Hour x 0.5	\$17.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 21, 2021	5:30 PM	Sep 21, 2021	7:30 PM	1	\$57.5
Field Reservation- Lights Fal	l/Spring \$35.00 /	Hour x 0.5	\$17.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Sep 28, 2021	5:30 PM	Sep 28, 2021	7:30 PM	1	\$57.5
Field Reservation- Lights Fal	l/Spring \$35.00 /	Hour x 0.5	\$17.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 5, 2021	5:30 PM	Oct 5, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc	tober \$35.00 / H	our x 1.5 \$52	2.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 12, 2021	5:30 PM	Oct 12, 2021	7:30 PM	1	\$92.50
Field Reservation- Lights Oc	tober \$35.00 / H	our x 1.5 \$52	2.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc	tober \$35.00 / H	our x 1.5 \$52	2.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Oct 26, 2021	5:30 PM	Oct 26, 2021	7:30 PM	1	\$92.5
Field Reservation- Lights Oc	tober \$35.00 / H	our x 1.5 \$52	2.50		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			
Nov 2, 2021	5:30 PM	Nov 2, 2021	7:30 PM	1	\$110.0
Field Reservation- Lights Win	nter \$35.00 / Hou	ur x 2 \$70.0	00		
Field Reservation- Youth	\$20.00 / Hour x 2	\$40.00			

EYO soccer	2 resource(s)	100 booking(s)	Subtotal: \$3,600.00

Booking Summary

R67352 Status Approved Page 7 of 22

RBP Field 15 West (Field Use- Yo	outn)		Center:	Rockburn Branch Park				
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX			
Aug 30, 2021	5:30 PM	Nov 5, 2021	7:30 PM	-	\$1,800.00			
Occurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 7, 2021, Sep 8, 2021, Sep 9, 2021, Sep 10, 2021, Sep 13, 2021, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Sep 17, 2021, Sep 20, 2021, Sep 21, 2021, Sep 22, 2021, Sep 23, 2021, Sep 24, 2021, Sep 27, 2021, Sep 28, 2021, Sep 29, 2021, Sep 30, 2021, Oct 1, 2021, Oct 4, 2021, Oct 5, 2021, Oct 6, 2021, Oct 7, 2021, Oct 8, 2021, Oct 11, 2021, Oct 12, 2021, Oct 13, 2021, Oct 14, 2021, Oct 15, 2021, Oct 18, 2021, Oct 19, 2021, Oct 20, 2021, Oct 21, 2021, Oct 22, 2021, Oct 25, 2021, Oct 26, 2021, Oct 27, 2021, Oct 28, 2021, Oct 29, 2021, Nov 1, 2021, Nov 2, 2021, Nov 3, 2021, Nov 4, 2021, Nov 5, 2021								
Aug 30, 2021	5:30 PM	Aug 30, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Aug 31, 2021	5:30 PM	Aug 31, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 1, 2021	5:30 PM	Sep 1, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 2, 2021	5:30 PM	Sep 2, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 3, 2021	5:30 PM	Sep 3, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 6, 2021	5:30 PM	Sep 6, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 7, 2021	5:30 PM	Sep 7, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 8, 2021	5:30 PM	Sep 8, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 9, 2021	5:30 PM	Sep 9, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 10, 2021	5:30 PM	Sep 10, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 13, 2021	5:30 PM	Sep 13, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 14, 2021	5:30 PM	Sep 14, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 15, 2021	5:30 PM	Sep 15, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 16, 2021	5:30 PM	Sep 16, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 17, 2021	5:30 PM	Sep 17, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 20, 2021	5:30 PM	Sep 20, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
Sep 21, 2021	5:30 PM	Sep 21, 2021	7:30 PM	1	\$36.00			
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00						
	5:30 PM	Sep 22, 2021	7:30 PM	1	\$36.00			

R67352 Status Approved Page 8 of 22

Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 23, 2021	5:30 PM	Sep 23, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 24, 2021	5:30 PM	Sep 24, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 27, 2021	5:30 PM	Sep 27, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 28, 2021	5:30 PM	Sep 28, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 29, 2021	5:30 PM	Sep 29, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 30, 2021	5:30 PM	Sep 30, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 1, 2021	5:30 PM	Oct 1, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 4, 2021	5:30 PM	Oct 4, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 5, 2021	5:30 PM	Oct 5, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 6, 2021	5:30 PM	Oct 6, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 7, 2021	5:30 PM	Oct 7, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 8, 2021	5:30 PM	Oct 8, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 11, 2021	5:30 PM	Oct 11, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 12, 2021	5:30 PM	Oct 12, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 13, 2021	5:30 PM	Oct 13, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 14, 2021	5:30 PM	Oct 14, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 15, 2021	5:30 PM	Oct 15, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 20, 2021	5:30 PM		7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			

R67352 Status Approved Page 9 of 22

Pelel Reservation - Youth \$18.00 / Hour x 2 \$36.00	,	0.00	Oct 21, 2021	7:30 PM	1	\$36.00
Cet 22, 2021 5:30 PM	Tield Reservation Toutif	\$18.00 / Hour x 2	, .	7.55 1 111	·	ψ30.00
Field Reservation	Oct 22 2021			7:30 PM	1	\$36.00
September Sept				7.3011	,	ψ50.00
Field Reservation-Youth				7:20 DM	1	\$36.00
Col. 26, 2021 S.30 PM			,	7.50 FIVI	ı	ψ30.00
Field Reservation-Youth				7:20 DM	4	¢20.00
September Sept				7:30 PM	ı	\$36.00
Field Reservation-Youth				700 514		400.00
Signatury Sign				7:30 PM	1	\$36.00
Field Reservation	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 29, 2021 530 PM Oct 29, 2021 730 PM 1 \$36,00 Floid Reservation- Youth Floid Reservation - Youth Floid R			Oct 28, 2021	7:30 PM	1	\$36.00
Field Reservation-Youth \$18.00 / Hour x 2 \$36.00	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov1, 2021 5:30 PM Nov1, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth 518.00 / Hour x 2 \$36.00 Nov 2, 2021 5:30 PM Nov 2, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth 518.00 / Hour x 2 \$36.00 Nov 3, 2021 5:30 PM Nov 3, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth 518.00 / Hour x 2 \$36.00 Nov 4, 2021 7:30 PM 1 \$38.00 / Hour x 2 \$36.00 Field Reservation-Youth 518.00 / Hour x 2 \$36.00 Nov 4, 2021 7:30 PM 1 \$38.00 / Hour x 2 \$36.00 Field Reservation-Youth 518.00 / Hour x 2 \$36.00 WATP Field 2 (Field Use-Youth) 518.00 / Hour x 2 \$36.00 Occurs on selected dates: Aug 30, 2021 Aug 31, 2021 Sep 1, 2021 Sep 2, 2021 Sep 3, 2021 Sep 8, 2021 Sep 8, 2021 Sep 10, 2021 Sep 13, 2021 Sep 13, 2021 Sep 13, 2021 Sep 14, 2021 Sep 15, 2021 Sep 16, 2021 Sep 16, 2021 Sep 17, 2021 Sep 2, 2021 Sep 2, 2021 Sep 2, 2021 Sep 24, 2021 Sep 26, 2021 Sep 27, 2021 Sep 28, 2021	Oct 29, 2021	5:30 PM	Oct 29, 2021	7:30 PM	1	\$36.00
Field Reservation-Youth \$18.00 / Hour x 2 \$36.00	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 2, 2021 5:30 PM Nov 2, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 3, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 4, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 4, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 S36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 Nov 5, 2021 8:30 PM 2021	Nov 1, 2021	5:30 PM	Nov 1, 2021	7:30 PM	1	\$36.00
Nov 3, 2021 5:30 PM Nov 3, 2021 7:30 PM 1 \$36.00	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 3, 2021 5:30 PM Nov 3, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 4, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 7:30 PM 1 \$36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 **********************************	Nov 2, 2021	5:30 PM	Nov 2, 2021	7:30 PM	1	\$36.00
Nov 4, 2021 5:30 PM Nov 4, 2021 7:30 PM 1 \$36.00	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 4, 2021 5:30 PM Nov 4, 2021 7:30 PM 1 S\$36.00 Field Reservation-Youth \$18.00 / Hour x 2 \$36.00 Nov 5, 2021 5:30 PM Nov 5, 2021 7:30 PM 1 S\$36.00 WATP Field Z (Field Use- Youth)	Nov 3, 2021	5:30 PM	Nov 3, 2021	7:30 PM	1	\$36.00
Nov 5, 2021 5:30 PM Nov 5, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 WATP Field 2 (Field Use- Youth) 5 TART TIME END DATE END TIME ATTENDEE AMT W/O TAX Aug 30, 2021 5:30 PM Nov 5, 2021 7:30 PM - \$1,800,00 Occurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 8, 2021, Sep 8, 2021, Sep 10, 2021, Sep 11, 2021, Sep 12, 2021, Sep 12, 2021, Sep 12, 2021, Sep 13, 2021, Sep 14, 2021, Sep 14, 2021, Sep 15, 2021, Sep 12, 2021, Sep 20, 2021, Sep	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 5, 2021 5:30 PM Nov 5, 2021 7:30 PM 1 St8.00 / Hour x 2 \$36.00 WATTP Field 2 (Field Use- Youth)	Nov 4, 2021	5:30 PM	Nov 4, 2021	7:30 PM	1	\$36.00
Start Date Start Time Start Time END Date END Time END Time ATTENDEE AMT W/O TAX	Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
WATP Field 2 (Field Use- Youth) END DATE END TIME ATTENDEE AMT W/O TAX Aug 30, 2021 5:30 PM Nov 5, 2021 7:30 PM — \$1,800.00 Occurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 7, 2021, Sep 8, 2021, Sep 9, 2021, Sep 10, 2021, Sep 10, 2021, Sep 117, 2021, Sep 20, 2021, Sep 22, 2021, Sep 23, 2021, Sep 24, 2021, Sep 8, 2021, Sep 29, 2021, Sep 29, 2021, Sep 30, 2021, Sep 24, 2021, Sep 24, 2021, Sep 28, 2021, Sep 29, 2021, Sep 30, 2021, Oct 2						
START DATE START TIME END DATE END TIME ATTENDEE AMT W/O TAX Aug 30, 2021 5:30 PM Nov 5, 2021 7:30 PM — \$1,800.00 Occurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 16, 2021, Sep 16, 2021, Sep 17, 2021, Sep 29, 2021, Sep 30, 2021, Oct 2021, Oct 4, 2021, Oct 4, 2021, Oct 5, 2021, Oct 6, 2021, Oct 7, 2021, Oct 8, 2021, Oct 17, 2021, Oct 18, 2021, Oct 18, 2021, Oct 18, 2021, Oct 19, 2021, Oct 20, 2021, Oct 25, 2021, Oct 25, 2021, Oct 27, 2021, Oct 27, 2021, Oct 12, 2021, Oct 12, 2021, Nov 1, 2021, Nov 2, 2021, Nov 3, 2021, Nov 3, 2021, Nov 4, 2021, Nov 5, 2021 Aug 30, 2021 5:30 PM Aug 30, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 7:30 PM 1 \$36.00 Sep 1, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 7:30 PM 1 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 <td></td> <td>5:30 PM</td> <td>Nov 5, 2021</td> <td>7:30 PM</td> <td>1</td> <td>\$36.00</td>		5:30 PM	Nov 5, 2021	7:30 PM	1	\$36.00
Aug 30, 2021 5:30 PM Nov 5, 2021 7:30 PM PNOV 5, 2021 5ep 3, 2021, Sep 6, 2021, Sep 7, 2021, Sep 8, 2021, Sep 9, 2021, Sep 10, 2021, Sep 13, 2021, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Sep 17, 2021, Sep 20, 2021, Sep 21, 2021, Sep 23, 2021, Sep 24, 2021, Sep 9, 2021, Sep 10, 2021, Sep 13, 2021, Sep 30, 2021, Oct 12, 2021, Oct 4, 2021, Oct 5, 2021, Oct 67, 2021, Oct 7, 2021, Oct 8, 2021, Oct 12, 2021, Oct 12, 2021, Oct 12, 2021, Oct 12, 2021, Oct 20, 2021, Oct 12, 2021, Oct 12, 2021, Oct 12, 2021, Oct 20, 2021, Nov 3, 2021, Nov 4, 2021, Nov 5, 2021 Aug 30, 2021	Nov 5, 2021			7:30 PM	1	\$36.00
Cocurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 9, 2021, Sep 9, 2021, Sep 10, 2021, Sep 13, 2021, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Sep 17, 2021, Sep 20, 2021, Sep 21, 2021, Sep 22, 2021, Sep 23, 2021, Sep 24, 2021, Sep 27, 2021, Sep 28, 2021, Sep 29, 2021, Sep 30, 2021, Oct 12, 2021, Oct 12, 2021, Oct 13, 2021, Oct 14, 2021, Oct 15, 2021, Oct 18, 20	Nov 5, 2021 Field Reservation- Youth	\$18.00 / Hour x 2				\$36.00
Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Sep 17, 2021, Sep 20, 2021, Sep 21, 2021, Sep 22, 2021, Sep 23, 2021, Sep 24, 2021, Oct 4, 2021, Oct 18, 2021, Oct 18, 2021, Oct 18, 2021, Oct 11, 2021, Oct 12, 2021, Oct 14, 2021, Oct 15, 2021, Oct 18, 2021, Oct 19, 2021, Oct 20, 2021, Oct 21, 2021, Oct 22, 2021, Oct 25, 2021, Oct 26, 2021, Oct 27, 2021, Oct 28, 2021, Oct 29, 2021, Nov 1, 2021, Nov 1, 2021, Nov 3, 2021, Nov 3, 2021, Nov 4, 2021, Nov 5, 2021 Aug 30, 2021 5:30 PM Aug 30, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 1, 2021 5:30 PM Aug 31, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 1, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 1 \$36.00 Sep 2, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 7:30 PM 1 \$36.00 Field Reservation-	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout	\$18.00 / Hour x 2	\$36.00	Cen	ter: Waterloo Park	
Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Aug 31, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE	\$18.00 / Hour x 2 h) START TIME	\$36.00 END DATE	Cen END TIME	ter: Waterloo Park	AMT W/O TAX
Aug 31, 2021 5:30 PM Aug 31, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 1, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 4, 2021, Oct 20, 2021, Oct 21, 2021, Oct 20, 20	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 2ct 5, 2021, Oct 6, 2021, Oct 7,	\$36.00 END DATE Nov 5, 2021 21, Sep 2, 2021, Sep 3, 20.0 221, Sep 21, 2021, Sep 22 2021, Oct 8, 2021, Oct 11	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Se , 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 13, 202	ter: Waterloo Park ATTENDEE	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19,
Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 1, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 4, 2021, Oct 20, 2021, Oct 20, 2021, Oct 21, 2021, Oct 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 2ct 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 20.0 121, Sep 21, 2021, Sep 22 2021, Oct 8, 2021, Oct 11 26, 2021, Oct 27, 2021, Oct	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Se 2021, Sep 23, 2021, Sep 24, 20 2, 2021, Oct 12, 2021, Oct 13, 202 2ct 28, 2021, Oct 29, 2021, Nov	ter: Waterloo Park ATTENDEE	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5,
Sep 1, 2021 5:30 PM Sep 1, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Aug 30, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20ct 5, 2021, Oct 6, 2021, Oct 7, 201 201, 201, Oct 25, 2021, Oc	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 20. 1021, Sep 21, 2021, Sep 22 2021, Oct 8, 2021, Oct 11 26, 2021, Oct 27, 2021, Oct Aug 30, 2021	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Se 2021, Sep 23, 2021, Sep 24, 20 2, 2021, Oct 12, 2021, Oct 13, 202 2ct 28, 2021, Oct 29, 2021, Nov	ter: Waterloo Park ATTENDEE	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5,
Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 4, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20ct 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2	\$36.00 END DATE Nov 5, 2021 21, Sep 2, 2021, Sep 3, 20, 2021, Sep 21, 2021, Oct 11, 26, 2021, Oct 27, 2021, Co. Aug 30, 2021 \$36.00	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 13, 202 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 221, Sep 27, 2021, Sep 28, 2021, Se 21, Oct 14, 2021, Oct 15, 2021, Nov 3, 2021, 1	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, iep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00
Sep 2, 2021 5:30 PM Sep 2, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20t 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 5:30 PM	\$36.00 END DATE Nov 5, 2021 21, Sep 2, 2021, Sep 3, 20, 2021, Sep 21, 2021, Oct 11, 26, 2021, Oct 27, 2021, C Aug 30, 2021 \$36.00 Aug 31, 2021	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 13, 202 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 221, Sep 27, 2021, Sep 28, 2021, Se 21, Oct 14, 2021, Oct 15, 2021, Nov 3, 2021, 1	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, iep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00
Field Reservation- Youth \$18.00 / Hour x 2 \$36.00 Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20ct 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 \$18.00 / Hour x 2	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 200, 2021, Sep 21, 2021, Sep 22, 2021, Oct 11, 26, 2021, Oct 27, 2021, Co. Aug 30, 2021 \$36.00 Aug 31, 2021 \$36.00	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 13, 2020 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 221, Sep 27, 2021, Sep 28, 2021, Se 21, Oct 14, 2021, Oct 15, 2021, Oct 1, 2021, Nov 2, 2021, Nov 3, 2021, 1	AMT W/O TAX \$1,800.00 221, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00
Sep 3, 2021 5:30 PM Sep 3, 2021 7:30 PM 1 \$36.00 Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Oct 4, 2021, Oct 20, 2021, Oct 20, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021 Field Reservation- Youth Sep 1, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20t 5, 2021, Oct 6, 2021, Oct 7, 201 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 20.0 221, Sep 21, 2021, Sep 22 2021, Oct 8, 2021, Oct 11 26, 2021, Oct 27, 2021, Oct Aug 30, 2021 \$36.00 Aug 31, 2021 \$36.00 Sep 1, 2021	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 13, 2020 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 221, Sep 27, 2021, Sep 28, 2021, Se 21, Oct 14, 2021, Oct 15, 2021, Oct 1, 2021, Nov 2, 2021, Nov 3, 2021, 1	AMT W/O TAX \$1,800.00 221, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00
Field Reservation- Youth \$18.00 / Hour x 2 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Oct 4, 2021, Oct 20, 2021, Oct 20, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021 Field Reservation- Youth Sep 1, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 2021, Sep 17, 2021, Sep 20, 20 2021, Oct 5, 2021, Oct 7, 201 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 20, 2021, Sep 21, 2021, Oct 11, 26, 2021, Oct 27, 2021, C Aug 30, 2021 \$36.00 Aug 31, 2021 \$36.00 Sep 1, 2021 \$36.00	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep , 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 021, Sep 27, 2021, Sep 28, 2021, Se 11, Oct 14, 2021, Oct 15, 2021, Oct 1, 2021, Nov 2, 2021, Nov 3, 2021, 1 1	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, 1ep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00 \$36.00
	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 20, 2021, Oct 20, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021 Field Reservation- Youth Sep 1, 2021 Field Reservation- Youth Sep 2, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20ct 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2 5:30 PM	\$36.00 END DATE Nov 5, 2021 21, Sep 2, 2021, Sep 3, 20, 2021, Sep 21, 2021, Sep 22, 2021, Oct 17, 2021, Oct 18, 2021, Oct 19, 2021, Oct 27, 2021, \$36.00 Sep 1, 2021 \$36.00 Sep 2, 2021	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep , 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE - p 8, 2021, Sep 9, 2021, Sep 10, 20 021, Sep 27, 2021, Sep 28, 2021, Se 11, Oct 14, 2021, Oct 15, 2021, Oct 1, 2021, Nov 2, 2021, Nov 3, 2021, 1 1	AMT W/O TAX \$1,800.00 021, Sep 13, 2021, 1ep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00 \$36.00
Sep 6, 2021 5:30 PM Sep 6, 2021 7:30 PM 1 \$36.00	Nov 5, 2021 Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 20, 2021, Oct 20, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021 Field Reservation- Youth Sep 1, 2021 Field Reservation- Youth Sep 2, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2	\$36.00 END DATE Nov 5, 2021 21, Sep 2, 2021, Sep 3, 2021, Sep 21, 2021, Sep 22, 2021, Oct 17, 2021, Oct 17, 2021, Oct 27, 2021, Oct 336.00 Aug 31, 2021 \$36.00 Sep 1, 2021 \$36.00 Sep 2, 2021 \$36.00	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 13, 2020 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE	AMT W/O TAX \$1,800.00 221, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00 \$36.00
	Field Reservation- Youth WATP Field 2 (Field Use- Yout START DATE Aug 30, 2021 Occurs on selected dates: Aug 30, Sep 14, 2021, Sep 15, 2021, Sep 16, 30, 2021, Oct 1, 2021, Oct 21, 2021, Oct 20, 2021 Aug 30, 2021 Field Reservation- Youth Aug 31, 2021 Field Reservation- Youth Sep 1, 2021 Field Reservation- Youth Sep 2, 2021 Field Reservation- Youth Sep 3, 2021	\$18.00 / Hour x 2 h) START TIME 5:30 PM 2021, Aug 31, 2021, Sep 1, 202 2021, Sep 17, 2021, Sep 20, 20 20ct 5, 2021, Oct 6, 2021, Oct 7, ct 22, 2021, Oct 25, 2021, Oct 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2 5:30 PM \$18.00 / Hour x 2 5:30 PM	\$36.00 END DATE Nov 5, 2021 11, Sep 2, 2021, Sep 3, 200, 2021, Sep 21, 2021, Sep 22, 2021, Oct 17, 2021, Oct 17, 2021, Oct 27, 2021, Oct 36, 2021, Oct 27, 2021, Oct 36, 200 Aug 30, 2021 \$36.00 Aug 31, 2021 \$36.00 Sep 1, 2021 \$36.00 Sep 2, 2021 \$36.00 Sep 3, 2021	Cen END TIME 7:30 PM 21, Sep 6, 2021, Sep 7, 2021, Sep, 2021, Sep 23, 2021, Sep 24, 20, 2021, Oct 12, 2021, Oct 13, 2020 Oct 28, 2021, Oct 29, 2021, Nov 7:30 PM 7:30 PM 7:30 PM	ter: Waterloo Park ATTENDEE	AMT W/O TAX \$1,800.00 221, Sep 13, 2021, Sep 29, 2021, Sep 18, 2021, Oct 19, Nov 4, 2021, Nov 5, \$36.00 \$36.00

R67352 Status Approved Page 10 of 22

• •	\$18.00 / Hour x 2 5:30 PM		7:30 PM	1	\$36.00
• •	5:30 PM	Sep 7, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth					******
Tiora recontation found	\$18.00 / Hour x 2	\$36.00			
Sep 8, 2021 5	5:30 PM	Sep 8, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 9, 2021 5	5:30 PM	Sep 9, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 10, 2021 5	5:30 PM	Sep 10, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 13, 2021 5	5:30 PM	Sep 13, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 14, 2021 5	5:30 PM	Sep 14, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 15, 2021 5	5:30 PM	Sep 15, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 16, 2021 5	5:30 PM	Sep 16, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 17, 2021 5	5:30 PM	Sep 17, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 20, 2021 5	5:30 PM	Sep 20, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 21, 2021 5	5:30 PM	Sep 21, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 22, 2021 5	5:30 PM	Sep 22, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 23, 2021 5	5:30 PM	Sep 23, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 24, 2021 5	5:30 PM	Sep 24, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 27, 2021 5	5:30 PM	Sep 27, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 28, 2021 5	5:30 PM	Sep 28, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 29, 2021 5	5:30 PM	Sep 29, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Sep 30, 2021 5	5:30 PM	Sep 30, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 1, 2021 5	5:30 PM	Oct 1, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 4, 2021 5	5:30 PM	Oct 4, 2021	7:30 PM	1	\$36.00

R67352 Status Approved Page 11 of 22

Oct 5, 2021	5:30 PM	Oct 5, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 6, 2021	5:30 PM	Oct 6, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 7, 2021	5:30 PM	Oct 7, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 8, 2021	5:30 PM	Oct 8, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 11, 2021	5:30 PM	Oct 11, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 12, 2021	5:30 PM	Oct 12, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 13, 2021	5:30 PM	Oct 13, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 14, 2021	5:30 PM	Oct 14, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 15, 2021	5:30 PM	Oct 15, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 20, 2021	5:30 PM	Oct 20, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 21, 2021	5:30 PM	Oct 21, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 22, 2021	5:30 PM	Oct 22, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 25, 2021	5:30 PM	Oct 25, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 26, 2021	5:30 PM	Oct 26, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 27, 2021	5:30 PM	Oct 27, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 28, 2021	5:30 PM	Oct 28, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Oct 29, 2021	5:30 PM	Oct 29, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 1, 2021	5:30 PM	Nov 1, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 2, 2021	5:30 PM	Nov 2, 2021	7:30 PM	1	\$36.00

R67352 Status Approved Page 12 of 22

Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 3, 2021	5:30 PM	Nov 3, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 4, 2021	5:30 PM	Nov 4, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			
Nov 5, 2021	5:30 PM	Nov 5, 2021	7:30 PM	1	\$36.00
Field Reservation- Youth	\$18.00 / Hour x 2	\$36.00			

EYO soccer games

5 resource(s) 45 booking(s) Subtotal: \$2,493.00

Booking Summary

RBP Field 11 West (Field Use- Y	outh)		Cente	er: Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Sep 11, 2021	9:00 AM	Nov 6, 2021	1:00 PM	-	\$360.00
Occurs every Saturday effective Se	p 11, 2021 until Nov 6, 2021 fro	om 9:00 AM to 1:00 PM			
Sep 11, 2021	9:00 AM	Sep 11, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 18, 2021	9:00 AM	Sep 18, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 25, 2021	9:00 AM	Sep 25, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 2, 2021	9:00 AM	Oct 2, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 9, 2021	9:00 AM	Oct 9, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 16, 2021	9:00 AM	Oct 16, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 23, 2021	9:00 AM	Oct 23, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 30, 2021	9:00 AM	Oct 30, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Nov 6, 2021	9:00 AM	Nov 6, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
RBP Field 12 West (Field Use-`	Youth)		Cente	er: Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Sep 11, 2021	9:00 AM	Nov 6, 2021	1:00 PM	-	\$360.00
Occurs every Saturday effective Se	p 11, 2021 until Nov 6, 2021 fro	om 9:00 AM to 1:00 PM			
Sep 11, 2021	9:00 AM	Sep 11, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 18, 2021	9:00 AM	Sep 18, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			

R67352 Status Approved Page 13 of 22

Pielol Reservation - Youth						
Oct 2, 2021 9,00 AM Oct 2, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40,00 100 PM 1 \$40.00 Oct 9, 2021 9,00 AM Oct 9, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 100 PM 1 \$40.00 Pield Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 1 \$40.00 Pield Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 1 \$40.00 Nov 6, 2021 9,00 AM Nov 6, 2021 1,00 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 \$40.00 \$40.00 \$40.00 Sep 11, 2021 9,00 AM Nov 6, 2021 Mol 200	Sep 25, 2021	9:00 AM	Sep 25, 2021	1:00 PM	1	\$40.00
Pield Reservation - Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 9, 2021 9,00 AM Oct 9, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40,00 1 \$40.00 Oct 16, 2021 9,00 AM Oct 16, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 Oct 30, 2021 9,00 AM Oct 30, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 Nov 6, 2021 9,00 AM Nov 6, 2021 100 PM 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 Field Reservation-Youth \$10,00 / Hour x 4 \$40.00 1 \$40.00 START DATE START TIME END DATE END TIME ATTENDER AMITWOT IX Sep 11, 2021 9,00 AM Nov 6, 2021 from 90.00 1 \$40.00 Sep 11, 2021 9,00 AM Sep 11, 2021 from 90.00 1 \$40.00 Sep 18, 2021 9,00 A	Oct 2, 2021	9:00 AM	Oct 2, 2021	1:00 PM	1	\$40.00
Field Reservation-Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 16, 2021 9.00 AM	Oct 9, 2021	9:00 AM	Oct 9, 2021	1:00 PM	1	\$40.00
Field Reservation-Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$400 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$400 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 ************************************	Oct 16, 2021	9:00 AM	Oct 16, 2021	1:00 PM	1	\$40.00
Field Reservation-Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Cot 30, 2021 9.00 AM	Oct 23, 2021	9:00 AM	Oct 23, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Nov 6, 2021 9:00 AM	Oct 30, 2021	9:00 AM	Oct 30, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
RBP Field 13 West (Field Use- Youth) END DATE END TIME END TIME ATTENDEE AMT W/O TA Sep 11, 2021 9:00 AM Nov 6, 2021 1:00 PM — \$3600 Occurs every Saturday effective Sep 11, 2021 until Nov 6, 2021 from 9:00 AM to 1:00 PM 1:00 PM — \$4000 Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM — \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM — \$40.00 Sep 25, 2021 9:00 AM Sep 18, 2021 1:00 PM — \$40.00 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 — — \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM — \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM — \$40.00 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 — — \$40.00 Oct 16, 2021 9:00 AM Oct 19, 2021 1:00 PM — 1 \$40.00 Field Reservation-Youth \$10.0	Nov 6, 2021	9:00 AM	Nov 6, 2021	1:00 PM	1	\$40.00
START DATE START TIME END DATE END TIME ATTENDEE AMT WO TA Sep 11, 2021 9:00 AM Nov 6, 2021 1:00 PM — \$360.00 Occurs every Saturday effective Sep 11, 2021 until Nov 6, 2021 from 9:00 AM to 100 PM 1 \$40.00 Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM 1 \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 19, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 <tr< td=""><td>Field Reservation- Youth</td><td>\$10.00 / Hour x 4</td><td>\$40.00</td><td></td><td></td><td></td></tr<>	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 11, 2021 9:00 AM Nov 6, 2021 1:00 PM — \$360.0 Occurs every Saturday effective Sep 11, 2021 until Nov 6, 2021 from 9:00 AM to 1:00 PM 1 \$40.0 Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM 1 \$40.0 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.0 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.0 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.0 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.0 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.0 Oct 2, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.0 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.0 Oct 23, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.0 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.0 Oct 3	RBP Field 13 West (Field Use- Y	outh)		Cente	r: Rockburn Branch Park	
Occurs every Saturday effective Sep 11, 2021 until Nov 6, 2021 from 9:00 AM to 1:00 PM 1.00 PM 1 \$40.00 Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM 1 \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00	START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM 1 \$40.00 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 1.00 PM 1 \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Field Reservation-Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 9, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 <td>Sep 11, 2021</td> <td>9:00 AM</td> <td>Nov 6, 2021</td> <td>1:00 PM</td> <td>-</td> <td>\$360.00</td>	Sep 11, 2021	9:00 AM	Nov 6, 2021	1:00 PM	-	\$360.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 \$40.01 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.01 \$40.01 \$40.01 <tr< td=""><td>Occurs every Saturday effective Sep</td><td>o 11, 2021 until Nov 6, 2021 fro</td><td>m 9:00 AM to 1:00 PM</td><td></td><td></td><td></td></tr<>	Occurs every Saturday effective Sep	o 11, 2021 until Nov 6, 2021 fro	m 9:00 AM to 1:00 PM			
Sep 18, 2021 9:00 AM Sep 18, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Pield Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Pield Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 <td>Sep 11, 2021</td> <td>9:00 AM</td> <td>Sep 11, 2021</td> <td>1:00 PM</td> <td>1</td> <td>\$40.00</td>	Sep 11, 2021	9:00 AM	Sep 11, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Cot 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Cot 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Cot 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Cot 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Cot 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Cot 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Cot 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Cot 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Cot 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Cot 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Cot 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth) \$10.00 / Hour x 4 \$40.00	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 25, 2021 9:00 AM Sep 25, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 9, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 </td <td>Sep 18, 2021</td> <td>9:00 AM</td> <td>Sep 18, 2021</td> <td>1:00 PM</td> <td>1</td> <td>\$40.00</td>	Sep 18, 2021	9:00 AM	Sep 18, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.01 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth \$10.00 / Hour x 4 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 2, 2021 9:00 AM Oct 2, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 <td>Sep 25, 2021</td> <td>9:00 AM</td> <td>Sep 25, 2021</td> <td>1:00 PM</td> <td>1</td> <td>\$40.00</td>	Sep 25, 2021	9:00 AM	Sep 25, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 </td <td>Field Reservation- Youth</td> <td>\$10.00 / Hour x 4</td> <td>\$40.00</td> <td></td> <td></td> <td></td>	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 9, 2021 9:00 AM Oct 9, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Center: Rockburn Branch Park	Oct 2, 2021	9:00 AM	Oct 2, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Center: Rockburn Branch Park	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 16, 2021 9:00 AM Oct 16, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth)	Oct 9, 2021	9:00 AM	Oct 9, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 \$40.00 \$40.00 \$40.00 RBP Field 14 West (Field Use- Youth)	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 23, 2021 9:00 AM Oct 23, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth)	Oct 16, 2021	9:00 AM	Oct 16, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 1:00 PM 1 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth) \$10.00 / Hour x 4 \$40.00	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 30, 2021 9:00 AM Oct 30, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 RBP Field 14 West (Field Use- Youth) Center: Rockburn Branch Park	Oct 23, 2021	9:00 AM	Oct 23, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 RBP Field 14 West (Field Use- Youth) Center: Rockburn Branch Park	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Nov 6, 2021 9:00 AM Nov 6, 2021 1:00 PM 1 \$40.00 RBP Field 14 West (Field Use- Youth) Center: Rockburn Branch Park	Oct 30, 2021	9:00 AM	Oct 30, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth \$10.00 / Hour x 4 \$40.00 RBP Field 14 West (Field Use- Youth) Center: Rockburn Branch Park	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
RBP Field 14 West (Field Use- Youth) Center: Rockburn Branch Park	Nov 6, 2021	9:00 AM	Nov 6, 2021	1:00 PM	1	\$40.00
	Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
START DATE START TIME END DATE END TIME ATTENDEE AMT W/O TA	RBP Field 14 West (Field Use- Y	outh)		Cente	r: Rockburn Branch Park	
	START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Sep 11, 2021 9:00 AM Nov 6, 2021 1:00 PM - \$360.0	Sep 11, 2021	9:00 AM	Nov 6, 2021	1:00 PM	_	\$360.00
Occurs every Saturday effective Sep 11, 2021 until Nov 6, 2021 from 9:00 AM to 1:00 PM	Occurs every Saturday effective Sep	o 11, 2021 until Nov 6, 2021 fro	m 9:00 AM to 1:00 PM			
Sep 11, 2021 9:00 AM Sep 11, 2021 1:00 PM 1 \$40.0	Sep 11, 2021	9:00 AM	Sep 11, 2021	1:00 PM	1	\$40.00

R67352 Status Approved Page 14 of 22

Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 18, 2021	9:00 AM	Sep 18, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Sep 25, 2021	9:00 AM	Sep 25, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 2, 2021	9:00 AM	Oct 2, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 9, 2021	9:00 AM	Oct 9, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 16, 2021	9:00 AM	Oct 16, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 23, 2021	9:00 AM	Oct 23, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Oct 30, 2021	9:00 AM	Oct 30, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
Nov 6, 2021	9:00 AM	Nov 6, 2021	1:00 PM	1	\$40.00
Field Reservation- Youth	\$10.00 / Hour x 4	\$40.00			
RBP Field 15 West (Field Use- Y	outh)		Cente	r: Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
· · · · · · · · · · · · · · · · · · ·		END DATE Nov 6, 2021	END TIME 3:30 PM	ATTENDEE -	AMT W/O TAX \$1,053.00
START DATE	9:00 AM	Nov 6, 2021		ATTENDEE _	
START DATE Sep 11, 2021	9:00 AM	Nov 6, 2021		ATTENDEE	\$1,053.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep Sep 11, 2021	9:00 AM 0:11, 2021 until Nov 6, 2021 from	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021	3:30 PM	_	\$1,053.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep Sep 11, 2021	9:00 AM 9:00 AM 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021	3:30 PM	_	\$1,053.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep Sep 11, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021	3:30 PM 3:30 PM	1	\$1,053.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep Sep 11, 2021 Field Reservation- Youth Sep 18, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00	3:30 PM 3:30 PM	1	\$1,053.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep Sep 11, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021	3:30 PM 3:30 PM 3:30 PM	1	\$1,053.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 11, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM	1	\$1,053.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021	3:30 PM 3:30 PM 3:30 PM	1 1	\$1,053.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 11, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM \$18.00 / Hour x 6.5 9:00 AM	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM	1 1	\$1,053.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021	3:30 PM 3:30 PM 3:30 PM 3:30 PM	1 1 1	\$1,053.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM 3:30 PM	1 1 1	\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00 Oct 16, 2021	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth Oct 16, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00 Oct 16, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth Oct 16, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00 Oct 16, 2021 \$117.00 Oct 23, 2021	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 15, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth Oct 16, 2021 Field Reservation- Youth Oct 16, 2021 Field Reservation- Youth Oct 23, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 7 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00 Oct 16, 2021 \$117.00 Oct 23, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth Oct 16, 2021 Field Reservation- Youth Oct 23, 2021 Field Reservation- Youth Oct 23, 2021 Field Reservation- Youth Oct 23, 2021	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 9, 2021 \$117.00 Oct 16, 2021 \$117.00 Oct 23, 2021 \$117.00 Oct 30, 2021	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		\$1,053.00 \$117.00 \$117.00 \$117.00 \$117.00 \$117.00
START DATE Sep 11, 2021 Occurs every Saturday effective Sep 12, 2021 Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth Oct 16, 2021 Field Reservation- Youth Oct 23, 2021 Field Reservation- Youth Oct 23, 2021 Field Reservation- Youth	9:00 AM 9:00 AM 9:00 AM 9:00 AM \$18.00 / Hour x 6.5	Nov 6, 2021 n 9:00 AM to 3:30 PM Sep 11, 2021 \$117.00 Sep 18, 2021 \$117.00 Sep 25, 2021 \$117.00 Oct 2, 2021 \$117.00 Oct 16, 2021 \$117.00 Oct 23, 2021 \$117.00 Oct 30, 2021 \$117.00	3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM 3:30 PM		

EYO Soccer 2 resource(s) 118 booking(s) Subtotal: \$4,563.00

Booking Summary

RBP Field 09 West (Field Use- Youth)			Center: Rockburn Branch Park					
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX			
Aug 30, 2021	5:30 PM	Nov 5, 2021	7:00 PM	-	\$1,350.00			
Occurs on selected dates: Aug 30, 2021, Aug 31, 2021, Sep 1, 2021, Sep 2, 2021, Sep 3, 2021, Sep 6, 2021, Sep 7, 2021, Sep 8, 2021, Sep 9, 2021, Sep 10, 2021, Sep 13, 2021, Sep 14, 2021, Sep 15, 2021, Sep 16, 2021, Sep 17, 2021, Sep 20, 2021, Sep 21, 2021, Sep 22, 2021, Sep 23, 2021, Sep 24, 2021, Sep 27, 2021, Sep 28, 2021, Sep 29, 2021, Sep 30, 2021, Oct 1, 2021, Oct 1, 2021, Oct 4, 2021, Oct 5, 2021, Oct 6, 2021, Oct 7, 2021, Oct 8, 2021, Oct 11, 2021, Oct 12, 2021, Oct 13, 2021, Oct 14, 2021, Oct 15, 2021, Oct 18, 2021, Oct 19, 2021, Oct 20, 2021, Oct 21, 2021, Oct 22, 2021, Oct 25, 2021, Oct 26, 2021, Oct 27, 2021, Oct 28, 2021, Oct 29, 2021, Nov 1, 2021, Nov 2, 2021, Nov 3, 2021, Nov 4, 2021, Nov 5, 2021								
Aug 30, 2021	5:30 PM	Aug 30, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Aug 31, 2021	5:30 PM	Aug 31, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 1, 2021	5:30 PM	Sep 1, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 2, 2021	5:30 PM	Sep 2, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 3, 2021	5:30 PM	Sep 3, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 6, 2021	5:30 PM	Sep 6, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 7, 2021	5:30 PM	Sep 7, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 8, 2021	5:30 PM	Sep 8, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 9, 2021	5:30 PM	Sep 9, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 10, 2021	5:30 PM	Sep 10, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 13, 2021	5:30 PM	Sep 13, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 14, 2021	5:30 PM	Sep 14, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 15, 2021	5:30 PM	Sep 15, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 16, 2021	5:30 PM	Sep 16, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 17, 2021	5:30 PM	Sep 17, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
Sep 20, 2021	5:30 PM	Sep 20, 2021	7:00 PM	1	\$27.00			
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00						
			7:00 PM		\$27.00			

Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 22, 2021	5:30 PM	Sep 22, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 23, 2021	5:30 PM	Sep 23, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 24, 2021	5:30 PM	Sep 24, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 27, 2021	5:30 PM	Sep 27, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 28, 2021	5:30 PM	Sep 28, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 29, 2021	5:30 PM	Sep 29, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 30, 2021	5:30 PM	Sep 30, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 1, 2021	5:30 PM	Oct 1, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 4, 2021	5:30 PM	Oct 4, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 5, 2021	5:30 PM	Oct 5, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 6, 2021	5:30 PM	Oct 6, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 7, 2021	5:30 PM	Oct 7, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 8, 2021	5:30 PM	Oct 8, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 11, 2021	5:30 PM	Oct 11, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 12, 2021	5:30 PM	Oct 12, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 13, 2021	5:30 PM	Oct 13, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 14, 2021	5:30 PM	Oct 14, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 15, 2021	5:30 PM	Oct 15, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			

R67352 Status Approved Page 17 of 22

Oct 20, 2021	5:30 PM	Oct 20, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 21, 2021	5:30 PM	Oct 21, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 22, 2021	5:30 PM	Oct 22, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 25, 2021	5:30 PM	Oct 25, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 26, 2021	5:30 PM	Oct 26, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 27, 2021	5:30 PM	Oct 27, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 28, 2021	5:30 PM	Oct 28, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 29, 2021	5:30 PM	Oct 29, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 1, 2021	5:30 PM	Nov 1, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 2, 2021	5:30 PM	Nov 2, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 3, 2021	5:30 PM	Nov 3, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 4, 2021	5:30 PM	Nov 4, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 5, 2021	5:30 PM	Nov 5, 2021	7:00 PM	1	\$27.0
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 11, 2021	9:00 AM	Nov 6, 2021	2:00 PM	_	\$810.0
Occurs every Saturday effective Seg	p 11, 2021 until Nov 6, 2021 fro.	m 9:00 AM to 2:00 PM			
Sep 11, 2021	9:00 AM	Sep 11. 2021	2:00 PM	1	\$90.0
Sep 11, 2021 Field Reservation- Youth		Sep 11, 2021 \$90.00	2:00 PM	1	\$90.0
Field Reservation- Youth	\$18.00 / Hour x 5	\$90.00		1	
Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM	\$90.00 Sep 18, 2021	2:00 PM 2:00 PM	1	
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00	2:00 PM	1 1	\$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021		1 1 1	\$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00	2:00 PM	1 1 1	\$90.0 \$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00 Oct 2, 2021	2:00 PM 2:00 PM		\$90.0 \$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00 Oct 2, 2021 \$90.00	2:00 PM 2:00 PM 2:00 PM	1	\$90.0 \$90.0 \$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00 Oct 2, 2021 \$90.00 Oct 9, 2021	2:00 PM 2:00 PM		\$90.0 \$90.0 \$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021 Field Reservation- Youth	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00 Oct 2, 2021 \$90.00 Oct 9, 2021 \$90.00	2:00 PM 2:00 PM 2:00 PM	1	\$90.0 \$90.0 \$90.0
Field Reservation- Youth Sep 18, 2021 Field Reservation- Youth Sep 25, 2021 Field Reservation- Youth Oct 2, 2021 Field Reservation- Youth Oct 9, 2021	\$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5 9:00 AM \$18.00 / Hour x 5	\$90.00 Sep 18, 2021 \$90.00 Sep 25, 2021 \$90.00 Oct 2, 2021 \$90.00 Oct 9, 2021	2:00 PM 2:00 PM 2:00 PM	1	\$90.0 \$90.0 \$90.0 \$90.0

Field Reservation- Youth	\$18.00 / Hour x 5	\$90.00			
Oct 30, 2021	9:00 AM	Oct 30, 2021	2:00 PM	1	\$90.00
Field Reservation- Youth	\$18.00 / Hour x 5	\$90.00			
Nov 6, 2021	9:00 AM	Nov 6, 2021	2:00 PM	1	\$90.00
Field Reservation- Youth	\$18.00 / Hour x 5	\$90.00			
RBP Field 10 West (Field Use- \			Center:	Rockburn Branch Park	
START DATE	START TIME	END DATE	END TIME	ATTENDEE	AMT W/O TAX
Aug 30, 2021	5:30 PM	Nov 5, 2021	7:00 PM	_	\$1,350.00
Occurs on selected dates: Aug 30, 2 Sep 14, 2021, Sep 15, 2021, Sep 16, 2 30, 2021, Oct 1, 2021, Oct 4, 2021, Oct 2021, Oct 20, 2021, Oct 21, 2021, Oct 2021	2021, Sep 17, 2021, Sep 20, 20 Oct 5, 2021, Oct 6, 2021, Oct 7,	021, Sep 21, 2021, Sep 22 2021, Oct 8, 2021, Oct 1	2, 2021, Sep 23, 2021, Sep 24, 2021, 1, 2021, Oct 12, 2021, Oct 13, 2021, C	Sep 27, 2021, Sep 28, 2021, S Oct 14, 2021, Oct 15, 2021, Oct 1	ep 29, 2021, Sep 8, 2021, Oct 19,
Aug 30, 2021	5:30 PM	Aug 30, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Aug 31, 2021	5:30 PM	Aug 31, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 1, 2021	5:30 PM	Sep 1, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 2, 2021	5:30 PM	Sep 2, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 3, 2021	5:30 PM	Sep 3, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 6, 2021	5:30 PM	Sep 6, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 7, 2021	5:30 PM	Sep 7, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 8, 2021	5:30 PM	Sep 8, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 9, 2021	5:30 PM	Sep 9, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 10, 2021	5:30 PM	Sep 10, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 13, 2021	5:30 PM	Sep 13, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 14, 2021	5:30 PM	Sep 14, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 15, 2021	5:30 PM	Sep 15, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 16, 2021	5:30 PM	Sep 16, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 17, 2021	5:30 PM	Sep 17, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			

Sep 20, 2021	5:30 PM	Sep 20, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 21, 2021	5:30 PM	Sep 21, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 22, 2021	5:30 PM	Sep 22, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 23, 2021	5:30 PM	Sep 23, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 24, 2021	5:30 PM	Sep 24, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 27, 2021	5:30 PM	Sep 27, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 28, 2021	5:30 PM	Sep 28, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 29, 2021	5:30 PM	Sep 29, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 30, 2021	5:30 PM	Sep 30, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 1, 2021	5:30 PM	Oct 1, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 4, 2021	5:30 PM	Oct 4, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 5, 2021	5:30 PM	Oct 5, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 6, 2021	5:30 PM	Oct 6, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 7, 2021	5:30 PM	Oct 7, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 8, 2021	5:30 PM	Oct 8, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 11, 2021	5:30 PM	Oct 11, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 12, 2021	5:30 PM	Oct 12, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 13, 2021	5:30 PM	Oct 13, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 14, 2021	5:30 PM	Oct 14, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 15, 2021	5:30 PM	Oct 15, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 18, 2021	5:30 PM	Oct 18, 2021	7:00 PM	1	\$27.00

R67352 Status Approved Page 20 of 22

Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 19, 2021	5:30 PM	Oct 19, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 20, 2021	5:30 PM	Oct 20, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 21, 2021	5:30 PM	Oct 21, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 22, 2021	5:30 PM	Oct 22, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 25, 2021	5:30 PM	Oct 25, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 26, 2021	5:30 PM	Oct 26, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 27, 2021	5:30 PM	Oct 27, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 28, 2021	5:30 PM	Oct 28, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Oct 29, 2021	5:30 PM	Oct 29, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 1, 2021	5:30 PM	Nov 1, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 2, 2021	5:30 PM	Nov 2, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 3, 2021	5:30 PM	Nov 3, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 4, 2021	5:30 PM	Nov 4, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Nov 5, 2021	5:30 PM	Nov 5, 2021	7:00 PM	1	\$27.00
Field Reservation- Youth	\$18.00 / Hour x 1.5	\$27.00			
Sep 11, 2021	9:00 AM	Nov 6, 2021	3:30 PM	_	\$1,053.00
Occurs every Saturday effective Se	o 11, 2021 until Nov 6, 2021 fron	n 9:00 AM to 3:30 PM			
Sep 11, 2021	9:00 AM	Sep 11, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			******
Sep 18, 2021	9:00 AM	Sep 18, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			Ţ
Sep 25, 2021	9:00 AM	Sep 25, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00	0.00 T W		Ψ117.00
Oct 2, 2021	9:00 AM	Oct 2, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00	0.00 I W	1	Ψ117.00
Oct 9, 2021	9:00 AM	Oct 9, 2021	3:30 PM	1	\$117.00
			J.JU FIVI		\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			

R67352 Status Approved Page 21 of 22

Oct 16, 2021	9:00 AM	Oct 16, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			
Oct 23, 2021	9:00 AM	Oct 23, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			
Oct 30, 2021	9:00 AM	Oct 30, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			
Nov 6, 2021	9:00 AM	Nov 6, 2021	3:30 PM	1	\$117.00
Field Reservation- Youth	\$18.00 / Hour x 6.5	\$117.00			

Payment Schedules		Origina	al Balance: \$17,158.50 C	Current Ba	ılance: \$17,158.50
DUE DATE	AMOUNT DUE	AMOUNT PAID	WITHDRAWAL ADJUS	STMENT	BALANCE
Jul 9, 2021	\$13,405.00	\$0.00		\$0.00	\$13,405.00
Jul 21, 2021	\$160.00	\$0.00		\$0.00	\$160.00
Aug 9, 2021	\$581.00	\$0.00		\$0.00	\$581.00
Aug 10, 2021	\$60.00	\$0.00		\$0.00	\$60.00
Aug 24, 2021	\$110.00	\$0.00		\$0.00	\$110.00
Aug 26, 2021	\$10.00	\$0.00		\$0.00	\$10.00
Oct 29, 2021	\$2,832.50	\$0.00		\$0.00	\$2,832.50

`		
	×	•

Date:

EYO

Customer Type: Non-Profit Customer ID: 356172

Mailing Option: PO Box 8012, Elkridge, MD

21075

Authorized Agent Name: Mike Berger Secondary Phone Number: (410) 696-2548 Primary Phone Number: (443) 562-4642 Email Address: mike@berger-sports.com

R67352 Status Approved Page 22 of 22